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E ** It is important to note that just like estimating non perfect square roots, sometimes we can estimate the
= volume by using an estimated value (3.14) forx.
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A movie theater is considering stitching Their cylindrical popcorn buckets £or & cone
 shaped confainer with the same keight and radivs. How Wobld This change The
: anobnt of popcorn The constmer s getTing? To be Fair, ol much Lould the movie
: Theater need o reduce The cost of fhe papcorn? Explain your anster belol
The eylindricad popeorn i Haree imes Hhat of o
cone. This means the wone is £ the size of Hhe
cylivolet, co Hhey showld reduce Hheir cost by 4
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